DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

N f th Departmental Test for the Ministerial Staff
ame of the of the Department of the Economics and | 075 |
Test: Statistics (Without Books) )

Maximum Time: 2.30 Hour »~ Maximum Marks: 100="

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QEmeTGM UM N6V &6

Read the following instructions carefully before beginning to answer the
questions.
NeTé&Eh6@ L WwWelésd QSTLRIGD (LP6TY SPSEEIL Sileysnrsmes
SEUGTLONGL Lilg H&H6LD.
1. This computer based Test contains 100 number of questions in objective
Type.
Ans5s Hewiefl eufls CHisumeng), 100 QamaGM euamsUNeOTsT 6T SN 6ME
Q& IT6TOTL &),

2. Answer all questions. Each question carries one mark
SlaTHg ANBTESHEHEGL el weldHead aQaurm eolamald b
WHOQUETT 2 6L LIS,

3 In case of doubt, English version is the Final.
e seiled FHCHHD QLT RH eugaNsd QaTHE&HILL ([HeTer
emé&Ger @m)Huimes).

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qng alamssaied QLD QuDMIETT Syt LTSS Geulsi UMsems&efed
Coemaulilig e,  &LesCasmu  Cuen  umedleHeufleT  QUMTEHm S & (EnHLD
SILRIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

eleueniugnfseT seMall aufls CoialnE oloLwalsss QsTLREGLD
Wwer  seNelluilesr  Semguiled  CHTHIMIL  SAMEUMTHMET  HEUETLONGL]
Ulg $&H6LD.

a) One question will be displayed on the screen at a time.
3Gy Crrssled @ ailam L ECL saMals Haopuisd Camermid.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display



If each and every unit of population has equal chance of being included in the
sample, it 1s known as

Wwons CsrEHudan oder emuiysd galemarnn wrdfluled Guib upegharear
soaumitemul Qupdpéen wrdfs sefliy pem

(A) Restricted sampling (B) Purposive sampling
auenywenLw wrdlfssenliy CrrésupanL wrdflé sanfliy
(g)/ Simple random sampling (D) Stratified sampling
- gngmyent greRTLib wrdlflé semriiy Wpyaws CsmEs)

Which of the following would you consider as discrete variables
Gereupeuareun e Brser saflsgeunnear THsE erar erans &G S P raer

(A) height
o _WITLD
(B) weight
GTEnL
(C) time
Grid

&[}/ number of persons in a family
7 gm GODLLUSH® 2 dTer puiselen ereaTantsms

Which of the following is the most unstable average?
Qeraupeuareupiler @aeu Was@Gonbs lerelloner eymedl 2

M mode (B) median

L0 gymal
(C) arithmetic mean (D) geometric mean
sal_(H& gral Qu(psse syre

The measure of variation that is least affected by extreme observations is

adeflioy wHuysarTed Ganmeurs LUTSHSSILEILD WOTDILITL g6 S| ETEU (&L

(A) Range B)//mean deviation
&a grmef efleésd
(C) standard deviation (D) quartile deviation
S L eflegsid STLTeTD eSledsDd
3 117/DM/21
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5. Mean and standard deviation of 200 items are found to be 60 and 20. If at the time
of calculations two items are wrongly taken as 3 and 67 instead of 13 and 17 find the
correct mean and standard deviation.

200 Qummlseflar symef wHmD HL ewdsd 60 LHYIDL 20 & STETLILHSEDS.
samsdBaaiiar Curg QrarH QUIEBLSE SauDTs 3 WHIID 67 && USors 13 whmb 17
erand Qaramme sflwrer syrefl wHmbd Hi L ellwssd samLHs

(AV\59.8,10.09 (B) 49.8,9.29
(C) 69.8,11.09 (D) 51.37,8.09

6. When f, <3, the distribution is

amCs [, <3, uremeng)

(A) Leptokurtic @ﬁ’latykurtic
SLEnL_WIETE] Henssd s el
(C) Mesokurtic (D) None of these
@ud slenL Geundled eg)dleeney
7. When drawing a scatter diagram if all points appear to form a straight line going

downward from left to right then it is inferred that there is
e Sgpd ellatdsl ULSmS euenTuibd Gung, yetallser marsgid QL) Gueb
waendd @b, uang S oear ey @ CrTEGCHT ML AHMDEGSLOMEITD ARG

(A) perfect positive correlation (B) simple positive correlation
wppewwrar Cpi el Hney gmyrent Cpi el (Hmey
(Merfect negative correlation (D) no correlation
7 pupevwrer adli @l Hney L (Hmaerenn
8. The farther the two regression lines cut each other
B o Lar Agriiyl Curs@s Cardadr geatempureay s <ids Qgrenaeie Qauligsd
Q& TeT(ErRLDTETTeD

(A) the greater will be the degree of correlation
Ns sfswrs @msEh @lOnelar ieral@
(\B)/ the lesser will be the degree of correlation
'/@«smﬂ)eurw; @mEEh el el arei@
(C) does not matter
@ eflagwpd Gdenea
(D) none of these
Qaumher ggibLilerene
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10.

11.

12.

13.

°C, is equal to

°C, @snE Harrareey

Aa) 20 w

(C) 30 (D) 100

If in case of Poisson distribution £2=3.2, u3 will be

LmiETer Ugeuenearg @eieumm 42=3.2 Sewujbd penmed 43 yerg
(A) 24 (B) 3.4

W4.2 (D) 6.8

In case of normal distribution f, 1s

ETSTIERT LJeUe) [y <Hevg)

@A 0 B) 2
0 2
(g)/ 3 (D) Greater than 3
3 pperermaiiL S

Two events are said to be independent if
Qe (® Hapefleer smiuppenal Grentled
(A) each out come has equal chance of occurrence
efenareysar geu@eumarmibd s eumiiysamery GupBlmé@LD
(B) there is the common point in between them
Qrarmgh@b Qurgeurs yeraflaws Gubdlmé@d
C) ne does not affect the occurrence of the other
gander Gamppid whpeupdler Camppsmss LTHEsTE)
(D) both events have only one point
Qranew ¢Gy e yeraflawut dupHGESD

When a coin and a die are thrown, the number of all possible cases is

@ Bramupb, @ usmLwb e@mts dsiubb Gurg ghuGd aoar alenerasafler

eTetT et Seng
@A 7 B) 8
@)/, 12 (D) 0

~d

117/DM/21
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14. For Bernoulli distribution with probability p of a success and q of a failure, the
relation between mean and variance that hold is
FHnUYL ureudear Geupfléstar flapssey p wpmib Csradlssrter flsbsse q aafld
gymefl wHmibd wIYUTR @remgHEh Qe Gu 2 éteT 2 mey
(A) mean < variance (Wean > variance
gymefl < wrmur ggmafl > wrpur@

(C) mean = variance (D) mean < variance
gymedl = rmur( gymefl < wrmur@

15. The binomial distribution is completely determined if it is known
FHEOILLL Ugeueme (ppawwns Biariss Qame Gsfibgmd Gumgb

(A) ponly (B) qonly

p L (Hb q wL_(Htb
(C) pandq D)rpandn

p wHoib q %p WwHmIb N

16.  Poisson distribution corresponds to
umigrer uyeugLer GsrL e weneu

(A7 rare events (B) certain event
<flw Hlapedlser @MU L Hlapeflae
(C) 1impossible event (D) almost sure event
B Qup (pigwns Blehaslser Qumburgid Hléswnner Hlespefladr

17. The famous Indian Statistical Institute (ISI) is in
Grfgd Qubm yerelulwe Hmeuard e 6rer GL b

(A) Delhi B) olkata
Slevabl \%ﬁanmgggn
(C) Chennai (D) Mumbai
QFetTenar (pLbenL

18.  Critical region is
Siray s UEGE eTerLg

(ﬁ%Rejection Area (B) Acceptance Area
LOIEGD UGS THGD UGE

(C) Probability (D) Test Statistic Value
Hl&hsase, Gengemants yeraflufwied iy
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19.

20.

21.

22,

23.

Whether a test is one sided or two sided depends on
CeTsemanuTaTs @6 (PO LG B(G (peoear aarg @smar GUTNSSSTEGLD

(\AyAlternative hypothesis (B) Composite hypothesis
‘/LDFUDQJ TR Gamer sy er(hCamer
(C)  Null hypothesis (D) Simple hypothesis

@ev ereid eTHCamer ereflw er(hCamer

Large sample theory is applicable when

QupEsdNE Carlum el twau@sgieg arGuUTg eraafled

Mmso (B) n<30

(C) n<100 (D) n <1000

While testing the significance of the difference between two sample means 1n case of
small samples, the degree of freedom is
@@ Ay smpseflar syrefsensda Cu e dmer Caugumigpsemer Apuy Cergenearuller
Gurg euaqwhy uTassefler eamamisms

(A) n,+ny B) n;,+ny,-1
(%nl-knz—z (D) ny+ny,+2

In normal distribution, skewness is

Quebleel uraede GarlL 2ere,

(A) One Wero

QeTml LpFSlwib
(C)  Greater than one (D) Less than one
garenn el Quilwg gaenn el HAPlwg

The test statistic F=8,°/S," is used for testing

F=SI2I.S'22 eramm Gangevar LereNulwed seteney g Cangenar QewwtivweruBEng)

(&) Hy:p=p G, :0=0
(C) Hy:oy=0 (D) Hy:oy=0y
7 117/DM/21
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24.  One of the assumption of analysis of variance is that the population from which the
samples are drawn is
wrgurt @ uEuuMuAHEiu  sEorarusele @aprar  aHESUULL  FmDIseT

QupuulL apperws QsmEdureang)

(A) Binomial (B) Poisson
FR(HMILIL LI & 68T

(C) Chi-square (\D)/T\Iormal
W &E-GUTESD * @ueblene

95.  Measures of association usually deal with

‘s meysallen SjeTeel CTaTUS) QUPSHLOTET SDESEETL UDDIET CTHEDIL 6 QgrLryen e

(A) 7 Attributes (B) Quantitative factors
LI 60T L| & 6T GTEUTEMIT Smiyewnt&er
(C) Variables (D) Numbers
oMl &er GTGRTSHET

26. In an exclusive class interval
selisgs sansd b My GerL Ceuaflule
(:V the upper class limit is exclusive
’ Gwev 9fey erérened 2 GTaTLRIGTG)

(B) the lower class limit is exclusive

& Wfley eréenew 2 eTeTLm&T)
(C) the lower and upper class limits are exclusive
& wpmib Cuwe Gfley ereemeser 2 drar_risTg

(D) none of the above

B germib G

117/DM/21 8



27.

28.

29.

30.

Raw data means
QetiueiLm efleurriseT eTerug)
(A) Primary data
Wpso Blane edlaund
(B) Secondary data
@rewr_mbd Hlenev adleurid
(\C)/ Data collected for investigation
7 uelpens Ceafléasiiul L elleurmser

(D) Well classified data
penE Ceafsasiiul L efleuymiser

Frequency curve
HapGea euemearGar(
(éybegins at the origin
”/c_%gf,]ufﬂa) TN & @D

(B) passes through the origin

< dleuflF Gladgb
(C) begins at the horizontal line

< &CaTl g6 2 b9&8ng,
(D) begins and ends at the base line

21q5CaM 1 7958 SFCCW pramL &g

If the grouped data has open-end classes, one can not calculate

amsiLu@ssuur L deugorag  Hops  Gfle; Qe Gaalsafle
Qereu(meupded Caab Gerean SETESL (Pgwing

(A) median B) ~mode

@ e flenew %5@

(C) mean (D) quartile
g l_(DFgymar &TELLDTETLD

Median can be located graphically with the help of
Ge_Here sjerene emeuHd euTULSSEN paLb sewddlL (plgub

(A) Histogram (B gives
uFeush Geeieusl) UL Lb PN GG
(C) Dbar diagram (D) scatter diagram
Ul el edleTdsLL LD Agmer eflerdsiiL b
9

Si@LHE BHSTED

117/DM/21
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31. The first quartile divides a frequency distribution in the ratio
W&H sTOWLTEND @ff Semabais Ljeuame Wareaumd cfldssdd GNsSEDg)
(A) 4:1 B) 14

(C) 3:1 %:3

32. A hypothesis may be classified as

a(HCamer eranLeng @eueunm euesLU(hHSSTD

(A) Simple (B) Composite
aeflwugns FHEEUWITS
(C) Null @/Au the above
Qe ergymm ‘/@w@@ﬁéﬁﬁ S| TSHHILD

33. If one regression coefficient is greater than unity then the other must be

em eLar  QerLiguCurégs Caepaller iy gamée  GubuLlg@BbsTeD,

WwHEmreTnTaTg
(A) greater than unity (B) equal to unity
garns@smerm GoHuL g (HEEGD QRETMEGF SIS @) (HEEGD
(C) ATess than unity (D) none of the above
f@e&rgué;@m G@DEUTS @) (H&ELD Baundled ggib Gena

34. If b, =-3/2, b,,=-3/2 then the correlation coefficient, r is

by,=-3/2, by,=-3/2 erafléd U Hnaysbaw r g

x —

A) 3/2 @) -3/2
€ 9/4 (D) -9/4

117/DM/21 10



36.

37.

38.

The purpose of hypothesis testing is to:
O Carer GCongenaruier Crmssnmeang

(A) test how far the mean of a sample is from zero

wrdfler  syrefl  ymBlusHdBrg et gD QBESD  TETL®S

Candlése|b
(.]?Mde_termine whether a sta}tisti.call result ?Ls signiﬁcant o
[ Yareflefeur eflenerey GNUALS5665T aTamLimg STomeilssd
(C) determine the appropriate value of the significance level
Qummasonar wHlieu Siorefssedear pasuggeuld

(D) derive the standard error of the data
Arenyp s76) Gupemd

The chi square test is defined as
s aurss Gersamarau @6ieurn euen WSS IUL(HeTeTg)
x2 :Z(O__E_) (B) x2 :ZM
E E
2(O+E)

» Z(O-EY 5
(%x_ E D) =5

(A)

When observed and expected frequencies completely coincide chi square will be

s@TLAuUOULL bpob afiurisatiu@b Hmobeud PGID FOW aafler y* e

&I

A  +1 B) -1
+1 =1

(C) greather than 1 D) Azero
arepeil S %

For a negatively skewed distribution, the correct inequality is
e Carl L ureugi&E shwmrer gwefled wmg ?

(A) Mode < median (B ean < median
&0 < GaLFleva gal_(p&eyrefl < @erL Hlene
(C) Mean < mode (D) None of the above
Fal_[pEsyredl < s Cupeadlu eTgia|b @oene
11 117/DM/21
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39.  In case of normal distribution z,=

FTSTTERT LITEUD Ly = TG

@) 3 ®),30,

(C) 30 D) 0o

40. The classical school of thought on probability assumes that all possible outcomes of
an experiment are
fspssey updlu  Apseander wrrouflu wetefl e ufGengeanier imeansg
gngdwioner elenere|saerubd &HeSng)

(A) Equally likely

FoeumuwiliL
(B) Independent

2 gl ul el
(C) Dependent

FMTHG)

D)~ Mutually exclusive and equally likely
v garepQurety dleseh Hapsdlsar Lopib sflen aimiliyerer Hla &Sl

41. The median of a given frequency distribution is found graphically with the help of

Qar@ésiulQarer  S@oCadr ugadd Gl flooew  sarsdl  uwaLED

QU TLIL_LOTETE

(A) Histogram (B) Pie diagram
Qgcueuas UL LD eul_Lb UL

(C) Frequency curve (pwgive curve
SienebleuaT aueneTa ' Qs GUMETEY

492.  For dealing with the qualitative data best average is
uerryseflar sreysEssE Wes nps erreflurdseaila

(A) Mean (B) Median

gal (& gymaf @ an_flene
(C)77 Mode (D) Geometric mean
%(5055@\ Qu(psse syref

117/DM/21 12



43.

44.

45.

46.

The extreme values negatively skewed distribution are in the

arglfoap GamL ugeuaar seLfwner wHULSET 2 drar @b

(A) eft tail (B) Right tail
~ @Lg eumed GUEG! GUTED
(C) Middle (D) None of the above
BEH eumed GuGe sgapliLLl L a6l eTge|bldeme

The regression lines cut each other at the point of

@ OsrLiyuGunss Canpsdr gatap@urdny Ceiligs Qamemenhd LeTeflwreng

(A) #Average of X and Y (B) Average of X only
X opmib Y-@er gyme X-@er ggraf wlHb
(C) Average of Y only (D) None of the above
Y-@eir eyradl wl @Hib Qaupder eTgia|bloene

Determine the Spearman’s rank correlation coefficient from the following details
% D*=30, N=10

8Cp Qsr@éslul Berer  eflaurasaialBha) QuiGueiar &7 aflens LHD6YS
Qapeliener seur®9ly ¥ D?>=30, N=10

(z\%,ys=0.82 (B) r,=0.32

(C) 1,=0.40 (D) r,=-0.40

If each of the items in a series is multiplied by a common factor, the value of the
standard deviation 1s

em Ogriisflle  geubleun auggdeanyd  @@m  CDurgsd smyewtullermed
QuemssuLLLTD, Sigaflar &L eflowssnrang)

(A) Unaffected (B) Decreased
umdl&aLiLmg) GDEUTEeF
©) ncreased (D) Common factor
4 <SlanmEeug) Qumg Syemntwim@eug)
13 117/DM/21
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47.  Graphs and charts facilitate

cuenLIL b pmib eflerdasliLLkise Splidiug

(A) Comparisons of values W o known the trend
wéuysamar @UdHeug el CuidGamer ifleug)

(C) To know relationship (D) All the above
Qariysener ibleig CuCe gapliulL eréemb

48. A bag contains 7 white, 6 red and 5 black balls. Two balls are drawn at random.
Find the probability that they will both be white
@ euwler 7 Qeudranar, 6 feuliy LHYID 5 HHUL LDHSGSET 2 eraTar. Siemeusatedl(hhg 2
UbgIseen Feumiiliy pepuild Gsiay Qe Qumrgl, e Gram@ib Ceudemarnins
@Qmuughenear Hapssamen &em( 9l

21 22
A 153 ® 153
20 23
e D)y ==
) 153 D) 153

49. X is random variable with its mean X the expression E (X 9 )Z represents
X erémug @ Fweumiiiiy wrhl, Siger sl sgref X -=ps @uern, sigar Garaey
E (X—)?)g -aw @GN Heug

(A) The variance of X (B) Second central moment
X-ar wrmur( 2-qug enow H(pLiy e
W Both (A) and (B) (D) Third central moment
v (A) wpmid (B) 3-qug evwow HmLiy Fper

50. Out of 20 employees in a company, five are graduates, three employees are selected
at random. The probability of all the three being graduates is

g sbQuafl@giarer 20 veflurerisaid 5 Guir ulLsmiser wfed 3 uenflurerisener
goaumitiy wepa Csiey @eiud CQUTPE, SEUTEHT BeaaIBLD UL Lgmilgerms

@ muiugnanen HlebhesseTearg)
A) 1/64 B) 1/125
S(.‘,)/l/llé' (D) 1/115

‘(J

117/DM/21 14



51.

52.

53.

54.

55.

In tossing three coins at a time, the probability of getting at most one head is

¢Cr sowsdd 3 pravwmsmer GanrHib QuTg AHsULFLNE @ s 6Hl(augnHsmar
Bl& DS &6 Teang)

(A) 378 B) /8

(C) 12 (D) 1/8
4

If the density function of bivariates X and Y is given as f(x, y) =3xy, for 0<x<I,
0<y<1 the marginal distribution of X is

f(x, y) =3xy, 0<x<1, 0<y<1 earug @wrd X opmbd Y Wer Gefley smiueer
arafled, X - eflafliby ureueTarg)

&) fr(x)=3x B (=2x
3 3
©) fx (-’C)ﬂzx (D) fx(x)—gx

The statistic F 1s

Fam LaTLeTemel F ey —————— G
@a >0 g%> 1
(C) <0 D) <1

A sample of 16 items from an infinite population having standard deviation 4,
yielded total scores as 160, What is the standard error of sampling distribution of
mean?
wiyelowrs wpuans gTEduldmbg ahEsUIULL 16 aTasar QamerL gadler S
Aessd 4, Qorss wHULTE 160 g CETOESDG. Fmmil LIee gyrefluler S ilenip
GTGITET ?

@/ 1 (B) 10

(C) 20 (D) 40

The median of the observations 27, 36, 28, 18, 35, 26, 20, 35, 40, 26
217, 36, 28, 18, 35, 26, 20, 35, 40, 26 < Aw eJeurrisefier @enLBlene 3j6Ta]

A 27 (B) 28
(C) 28.5 Wm
15 117/DM/21
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56. The mean of the two regression coefficients is always
B Qgruiyl CGuré@ Qas@peiler syrefl erlbumpgID
Mqual to coefficient of correlation
L (Hneys Capeiih@ swirerg

(B) Less than the coefficient of correlation
U Hneys Qapeilenar 6l Gampeurnerg

(C)  Greater than the coefficient of correlation
QU Hneys Qapalaman ol iflswreng

(D) None of the above
Cule sapliul Lameu erglableene

57. A pie diagram is which dimension?
L eflaTésLiLLLoneng ehg Lflomenrd

A 1 (B)~:
© 5 D) 4

58. Arithmatic mean is 20 and mode is 18. Find out median
ol Qéerrefulen gy 20 wHmb @psager HUL 18. GaL Hlame wdUiL sar@H Yy

Q) 21.21 B)~19.33

(C) 20.06 (D) 21.50

59. The relational between mean deviation (MD) and standard deviation (SD) 1s
gyrsf efassn (MD) wpmb L desssHng (SD) @e Cuwrer QErLrureng
(A) 3MD=2SD B)~5 MD = 4 SD
(C) 6MD=5SD (D) MD=SD

60. Find the probability of an even number while throwing an ordinary die (six faced)
@@ sTsma (6 U&smEd) usmLeow e GLEDb Gurg, Gl epL UL ETESET
aumaughsTer Hapssemer sem( i

v 1 1
A) 5 B) -
1 1

(C) i (D) 5

117/DM/21 16



61.

62.

63.

64.

Harmonic mean gives move weightage to

Qe syrefleow QuesHE aThs WHILESEEEE Wadudged CaThH&Esng ?

A) mall values (B) Large values
APlw wdiiyser Qu(mpLd W LI &eT
(C) Positive values (D) Negative values
Crflen wHliyser ardienn W LILSET

The standard normal distribution is mentioned by
AL Crienols Lgeuelienar GHULg ———— JGWD
A)  N(0,0) B) N(1)

(\cﬁr (0,1) ®) N(,0)

In small sample to test the difference of means, the test statistic 1s

dn sapseier sgrafllear Caupurhsemer Cerdés Gergemer yerefufwed LiaRTLeTENE

G
(A) Z:% (B) t=—%
% %2 A B
n, Ny n. Ny
~ x—-y d
B = Dy t=
(yf - 1] (D) 5
§°| —4+—
n Ny

In sampling, accept Ho when it is wrong is

QP ssadear Gurg Ho ararug seuprs Qnmésn Cung gHm&EEsTeaTeUg CTETLIS)

(A) TypeIerror ‘(y‘j!‘f’ype IT error
Wse cuems Yeanp @rerLmbd euens Genip
(C) Standard error (D) Mean error
S Yenyp gyrafl Yenip
17 117/DM/21
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65. For a two-tailed normal test if ———— H|, is rejected at 5% level of significance

@m @Qmuaar Quablaw Gsrgaardear Cumgy ——— QBHEGLTATD, G
T HCamaner 5% Wensgseamenn L L G wM&ESILEID

&) |z|<1.96 BpAZ]>1.96

C) |Z|<2.58 (D) |Z|>2.58

66. Type I error is known as

Ws& auens Yenp ———— aTar @ P&SLIU[ID

(A) False negative error \(w alse positive error
Qumiwrer erglflen Genip Qumiwrer Grflen Genip

(C)  True negative error (D) True positive error
Quuiwrer erdlflenL GenLp Quuwuwrer Crflan Genip

67. Value of bin y=a+bx remains same with the change of

y=a+bx er@bd swetumigd —— ar wHuy wrmbGurg b & wAUY wTpTE
Qrsew
W Origin (B) Scale
enww &l 260G
(C) Both (A) and (B) (D) Neither (A) nor (B)
(A) wpmid (B) @yer@® b @rearhHn @dena

68. The coefficient of skewness of a series A is 0.15 and that of series B is 0.062 which of
the two series is less skew?

QsTLir A-ssmer GsmlLeteveus Qs 0.15 wpmib @smii B-&@ 0.062. Geusilyeam(
Qar_isafld ergayenw GCamlLetanay @Gmrrpmrreﬁrg,rr@m

(A) Series A @/Series B
Qgmr A Qgm_ir B
(C) No decision (D) None of the above
(Plg.a] @)ebenay Qar@éslul L age|dldeama

69. Probability can take values
Blepsse hSgs QameTEhld L&
(A) —owtoow (B) -wtol

(C) -1ltol (p)/‘/etol
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70.

Tk

2.

73.

4.

A random sample of size 100 is taken from a large population with standard
deviation 8. The standard error of the population mean 1s

@ Wwweows AsTEHule @mhg aTHsEUULL mUlys sapsaidar mae 100 &
@oula, os@olu Sl dossorarg 8 wGSD. DG ETTEN (P
Ogr@Sular S Gevpuianer sewrL_hla

@~0.8 (B) 0.2

(C) 0.1 (D) 0.6
For testing the significance of sample regression co-efficient, we use ——— test
gam Gsmiry  Gurss Qapeiler  WensssemenLo Cendéss — Cengenar
Lweru (HEg Geumid
(A) Chi square (B F
e UGS F
(C)2rt D) Z
‘/t 7,

Sixth deciles is same as
<4DTeUg UFlemomerd eramug

(A) median (B) 50th percentile
Qen_flene 506ug) HMHMILDTETD
(C),#”60th percentile (D) first quartile
60 HIHMILDTETLD (P STOLDTETLD

Which of the following is a unitless measure of dispension?
s Sand ameisaild g S QUDTE DHETEDILTELD ?

(A) Standard deviation (B) Mean deviation
S Leflessnd gyrgfl eflev&sid
Woefﬁcien’c of variation (D) Range
wrmuUT’ H&EC&W eiFe

If £ D?=0 rank correlation is

T D*=0 erafled, srellevsEs6sw

@A) 0 ®¥F1

(C) 0.5 (D) -1
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75.  The probability of not getting 2, when a die is thrown is
e useL eiab Curg ‘2 oL ssmod @nss Hepsse

1 2
@y < B T
1
© %5 Vs

76.  Alternative hypothesis 1s

wrHm THEEHTET eTarLg)

(A) Always Left Tailed
eriGurgd @ pear

(B) Always Right Tailed
eriGumg) euey (Lpene

(C) Always One Tailed
euGungib @ff (pener

MOne Tailed or Two Tailed

Y m p@ar Sidwg G poar

77.  Standard error of number of success is given by

Qeunfseier eramanilsmasarar UL Gempuineag

(A) JP—E (By~npq

€) npq @) 22

78.  Analysis of variance technique was developed by

LIMUTL(H UGUUTLIEY (PenD&EenerT aflengeyuB &S weur

(A) S.D. Poisson (B) Karl Pearson
S.D. umigmer &mire - wiiren e
(\(?)/ R.A. Fisher (D) W.S. Gosset
Vv RA. Slag W.S. arQel
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79.

80.

81.

82.

83.

Binomial distribution applies to
MRRMILILIL Ugeuedletr Liwemumiqh Mg

(A) Rare events B epeated alternatives

< flu Blapsflaer ‘/;Q@Lbu Hmou Hlapsdlser
(C) Three events (D) Impossible events

3 Hlapsdlaer penL Quprg Blspsslser

In case of positive skewed distribution, the extreme values lie in the
GrflenL GamiL ueualier, eflafliby wLILsET B HULE

(A) Left tail (B) ight tail
@Laupn ‘/“’glw@umtb

(C) Middle (D) Anywhere
B afled hg QLsSled

Outcomes of an experiment are classified as
@@ Camgamaniear eleaere|sedr Geiouny euamsiubsslLbEemer

(A) Logged events (B) Exponential results
sl Hlape|ser SIHEGE GO (Plg e saT
(C) Results (\D){Events
(Plg-6&ET HlapeseT

For a random experiment, all possible outcomes are called
gCssmes Cengamanssran @ansg euMUULETET FlaDea &6 erarLig)

(A) numerical space (B) event space
eramenflwe Qeua Hlape| Geuar

(C) /sample space (D) both (B) and (C)
Fam Geuafl (B) whmw (C)

In probability theory, events are denoted by

Papssa; Canum o fapesmers @OlLLg)

(A)  Greek letters ‘B)/ English in capital letters
HCrés eT(SIHIGS6T v i Quilu erpsgsaeT

(C) Small letters (D) Latin letters
ANw er(psgIHaseT QlevsSen er(pSGIEHET
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84. Event such as equal chance of heads or tails while tossing coin is an example of

BTGNS &ET(HLCUTE  SMOSET, LL&S&ET edlpeugharer gFweumili ﬁ&@@.{&@

T (HSGH&SHTL(h
(A) numerical events unally likely events

eramentlwed Hlapeser 7 gweumiliL Fl&peser
(C) unequal events (D) non-numerical events

gowpn Hlapeser eraremtiwed gmym Hlapeyser

85. Measure of chance of an uncertain event in form of numerical figures is classified as

erawr auigeusdled e drer 2 mHwpn Hapesaiiar cumilGear serel(Heug

Mrobabili‘cy (B) variability
"'y Hl&psse6, LOTHOLD
(C)  durability (D) likelihood

HlanevggetmenLn eUMILIL

86. In probability theories, collection of all events possible outcomes from an experiment
1s classified as
fapsse; Gariurpsaid g GCergmaniddmbs madg Blapeysefler srsdluiperer
Neneareysaflen Qsm_ir eremug)
(A) mutually exclusive events
PEDIES gy sl flapaysd
(I\S%‘collectlvely exhaustive events
pHLGUHD Flepeysaier Srdr
(C) collectively exclusive events
safl flspesafiar glyer

(D) mutually exhaustive events

geareapQurern elesEh Hlapeser
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87.

88.

89.

90.

Number of favorable occurrences is divided by total number of possible occurrences
to calculate

gngasorar  Hspeseiar  aamaflsmsamu  Quorss  emouyerer  Hlapajsaflar
TR GMSLITED 6UEGSSHIE HemsdlL_LiL[Heug)

(A) _~pProbability of an event
*//gw Hepailar Hlspssal
(B) total outcomes of an event

e Hapeiler Qrgs eSlaare sar

(C) sample space of experiment
Gengenanufen gnneuefl

(D) none of above
CuCBe 2 éTer eTga|blbena

Sample space for experiment in which two coins are tossed 1s

@anmrmm sam_ L@ Gersmarssnan gnbeuefl eremig)
4 (B) 8

© 2 D) 10

If occurrence of a statistical event A does not affect occurrence of event B and vice
versa then these events are classified as
A aarp yetefl Que Hlape; B erann Hlapeiearns urdédpg. <Cs Gumer B eremp
fape A flaspaeuls UTHESTE eTaTUg)
(A) statistically dependent events
yerefwe griy Hlspeser
(B) descriptive unaffected events
eTsss sam@bL@LIL UTHEETS BlsDe &6
((\Zys'tatistically independent events
yerefl@uweé shemiy Hlapeser
(D) statistically unaffected events
yerefl@uwed undéang Hlapeser

Binomial distribution is also known as
FEHHILL LITGU eTETLIg)

A)"f"' Bernouli distribution (B) Pearson distribution
Quir@pered LiFeue Qwirger LFeUe
(C) Blaise Pascal distribution (D) Denis Poisson distribution
Yeners: LITEL&ED LITEUE) QLeraflla LMiIges LFeue)
23 117/DM/21
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91. In Binomial distribution, the probability of success (P) from trial to trial
FEnILYL ureud QeaupBluler Bapsae) pwwhHsléss pupdlulle

( remains constant (B) wvaries
Hleneowirargl LOmmILD

(C) anything can happen (D) zero
TgIey b HlEpid &LPWID

92. In Binomial distribution, the possibility of outcome of any trial

subsequent trials.
FEHDICLL ugeuald ahs puhdulgie w soeumiliyerer eflemaerey aflaeruyb, Qgmir

puhélseery

(A)Z~toes not affect - (B) does affect

’/Er@uugﬁsbsmm LSl @

(C) both (A) and (B) may occur (D) negative
(A) wHmw (B) Hlsperbd erdlfoenm

93.  All Poisson probability distribution is skewed to
Simandg uTLse Bapsse) LTeugib sosfflardll LsswLTE & HEED

N
(A) —~Right (B) Left
‘/gw@ Qra
(C) Both (D) Difficult to predict
@ yesr (b sanflliLgl &g e
94. distribution is the corner stone of the Modern Statistics.

ureued paier Lerafudiuielen iiqgerom@Lb

(A) Binomial (B) Hypergeometric
FE(HmILIL O eantiuf GurGwl fé
(C) Poisson (D “Aormal
LM g6 ‘)/gu_lebﬁcmv

95.  If the probability of event is 0.5, a chance for an event that will occur
Bspssaiar fapsse; 0.5 aald, @@ Hlapasarar aumilL eearlg)

(A 50-50 (B) Small chance
’y 50-50 Aflw eumiiy
(C) Zero (D) Almost definitely occur
& flwibd QuemLbLLTD 2 mFuing Hlaspd
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96.

91.

98.

99.

100.

A regression model may be
o | anCGuné@s QST rL6
(A) Linear

CrirGar(

(C) Inverse curve
smadlp eumareuanyGam(

B)

D)

Non-linear

Crrop Can
oth (A) and (B)

(A) wpmid (B)

Which analysis does help for Population projections?

w&seT Qarans safllibneE eabs LGLUUMTLE| 256 D ?

(A) Correlation
L HDey cuanssblsp

@)//Regression

o e Ggriyl Gumses,

Time Reversal Test deals with

sme IHNIF CFTHMET GTaLg)

(A) random number
gCasans eretr

(C) ~1ndex numbers
GO G eTeiraer

The most severe error in testing 1s
Gargevanie as s@awurer ey

(A) type-I error
P& cuens Senp

(C) nothing
eTglablerenev

(B)

D)

B)

D)

D)

Probability

H&ps66,

All of the above

CwCe 2 T SjenadgiLb

dispersion
Sgmeser

median

@enLflepe

\@/ ype-1I error

@rearLmb euens enip

both (A) and (B)
(A) wpmin (B)

Which test is applicable when the sample size is between 5 and 30

wrdAufer eierey 5 oo 30 euany aTpg Cemgenar QUTBSSLTETE BED?

(A) Z-test
Z-Cergenar

(C) ~T-test

/t--@&rrg,mew

B)

D)

X2 test
X -Cergenar

F-test
F-Cargener

117/DM/21
[Turn over



